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l. Hopnarun o6ecne.rennocrtr o6qsareflncrB cocraBJrfler rI paccq[TblBaercs: 13'53

Hl=A/O

H1= ctpora 1600/ctpora 1530 = 1103331 ruc. py6. l81552trrc. py6':13,53

2. HoprvraruB ueJreBoro ncrroJrbgoBaHr.rr cpeAcrB cocraBJrger tl paccqurrrraercr: 0151

H2=As/(A+HA)

H2= 5 60 4 62 I (l 0 | 0 627 +927 0 4):0,5 |
IA€,

An= crp.1100+crp.1200- (ctorarr,rocrb rre3aBeprrreHHoro crpol,IrerlLcma) :96501+1006830-

(239 53 6+303 3 3 3 ) = 5 60 462rcrc.Py6

[= (ctp. 1 400+mp. 1 500)-crp 1 5 3 0 : (527 7 +1086902)-8 1 5 52=1010627 ttlc py6.

fA€r

tlA=(crp.t600-3y)-(crp.l400+up.1530-,{BI9:11Orr3l-(5277+1086902-815521:92rO4tuc.py6

3. Parnaep co6crrennblx cpelcrn ractpoftullrrca

pCC3= (Axrran 6aranca 1600) - (,4oxo4u 6ysyutux replloAoB (1530)+OHO (1420))=1103331-

(8 1 552+50891=1 g, UU90 trrc.PY6
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